Division par Puissances de Dix (H)

100 + 107t =

92 ~ 1073

52 = 1072

58+ 107"

52 =101

65+ 107"

59 = 1071

21 +1072

44 + 1071

85 +~ 1072

Trouvez chaque quotient.

34 +1073 =

64 +107° =

17 + 1072 =

98 -~ 1073 =

86+ 1071 =

3+107°=

13 +1073 =

93 +107% =

23 +1073 =

39 +107% =
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Division par Puissances de Dix (H) Solutions

100+ 10"*=1000

92 + 1073 =92 000

52+107%=5200

58 + 107" =580

52 +10"1=520

65+ 107" =650

59 + 1071 =590

21+107%=2100

44 + 1071 =440

85 +1072=8500

Trouvez chaque quotient.

34 +107°=34000

64 + 107 =64 000

17 +1072=1700

98 ~ 1073 =98 000

86 +~ 1071 =860

3+1073=3000

13 +1073=13 000

93 +1072=9300

23 +1073=23000

39 +1072=3900
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